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Note:(i)Answer either Q1 completly or Q2 completely (i1)Q3,Q4 and Q5 is compulsory
Marks = CO
1 () |List the characteristics of ideal Op-amp. Demonstrate the working of Op-amp as inverting and [10] = ca06d
non-inverting amplifier with circuit diagram and design.
1(b) Discuss the operation of Op-amp as voltage series and voltage shunt feedback amplifier. Derive [10] | Ca0ol
the closed loop gain, input resistance and output resistance of the same.
OR
2(a) Design a inverting Schmitt trigger to have UTP=+3V and LTP=-5V using an Op-amp uA741 IC [10] [Ca004
with supply voltage Vcc=+15V.
2(b) |pemonstrate with circuit diagram voltage to current converter with grounded load and current to [10] C4005
\voltage converter.
3 [Explain the working of PLL with block diagram. Explain the function of each block in detail. [10] | CA066
4 Explain the working of Astable multivibrator using 555 timer with internal diagram and required [10]  CA00b
waveforms.
5 List the different applications of 555 timer. Explain any 2 applications in detail. [10] | C406.6
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Inverting amplifier
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2(b)voltage to current converters

} AALI 7,77.& I n il g/ 1;3/

h——°V°=2V1

R Vo R
—\ VN B AAA s
'lla =0
TIB =0
R _ Vv
T anan- 2
bl
g2 I, +
v
Load




Current to voltage converters
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